Filomat 34:2 (2020), 373–377 https://doi.org/10.2298/FIL2002373P



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

Steffensen Type Inequalities for Anti-Symmetrized Monotone Functions

Marjan Praljak^a

^aFaculty of Food Technology and Biotechnology, University Of Zagreb, Pierottijeva 6, 10000 Zagreb, Croatia

Abstract. Several Steffensen type inequalities are derived for anti-symmetrized monotone functions, i. e. functions *f* which anti-symmetrical transform $\tilde{f}(x) = \frac{1}{2} [f(x) - f(a + b - x)], x \in [a, b]$, is monotone.

1. Introduction

In 1918 Steffensen [6] proved the following result:

Theorem 1.1. Let f and g be integrable functions defined on the interval [a, b] such that f is nonincreasing and $0 \le g \le 1$ and denote $\lambda = \int_a^b g(t) dt$. Then we have

$$\int_{b-\lambda}^{b} f(t) dt \le \int_{a}^{b} f(t)g(t) dt \le \int_{a}^{a+\lambda} f(t) dt,$$
(1)

with the inequalities reversed if *f* is nondecreasing.

Steffensen published his result in an actuarial journal and the inequalities went mostly unnoticed for the first few decades. However, since then the inequality has been extensively studied, extended, refined and applied in many areas. For a recent, comprehensive presentation of the research related to the Steffensen inequality one can see the monograph [5].

Milovanović and Pečarić [2] weakened the assumptions on the function g and showed that these assumptions are sufficient and necessary, i. e. the weakest assumption under which inequality (1) holds.

Theorem 1.2. Let f and g be integrable functions defined on the interval [a, b] and let $\lambda = \int_a^b g(t) dt$.

a) The second inequality in (1) holds for every nonincreasing function f if and only if

$$\int_{a}^{x} g(t) dt \le x - a \text{ and } \int_{x}^{b} g(t) dt \ge 0 \text{ for every } x \in [a, b].$$
(2)

Keywords. Steffensen's inequality, anti-symmetrized functions

²⁰¹⁰ Mathematics Subject Classification. Primary 26D99

Received: 04 April 2019; Accepted: 01 January 2020

Communicated by Miodrag Spalević

Email address: mpraljak@pbf.unizg.hr (Marjan Praljak)

b) The first inequality in (1) holds for every nonincreasing function f if and only if

$$\int_{x}^{b} g(t) dt \le b - x \text{ and } \int_{a}^{x} g(t) dt \ge 0 \text{ for every } x \in [a, b].$$
(3)

The following result, due to Pečarić [3], extends the Steffensen inequality by introducing one more function.

Theorem 1.3. Let f, g and h be integrable functions defined on the interval [a, b] such that h is positive, the function $x \mapsto \frac{f(x)}{h(x)}$ is nonincreasing and $0 \le g \le 1$. Then

$$\int_{a}^{b} f(t)g(t) dt \leq \int_{a}^{a+\lambda} f(t) dt,$$
(4)

where λ is the solution of the equation

$$\int_{a}^{a+\lambda} h(t) dt = \int_{a}^{b} h(t)g(t) dt.$$
(5)

If the function $x \mapsto \frac{f(x)}{h(x)}$ is nondecreasing, then the inequality in (4) is reversed.

Applying Theorem 1.3 with h = 1 one recovers the second inequality in (1). Analogous extension of the first inequality can be derived from Theorem 1.3 with substitutions $g(x) \rightarrow 1 - g(x)$ and $\lambda \rightarrow a + b - \lambda$. For alternative proofs, interpretations and extensions of these results see also [1, 4].

In this paper we will obtain several Steffensen type inequalities for functions which anti-symmetrical transform $\tilde{f}(x) = \frac{1}{2} [f(x) - f(a + b - x)]$, $x \in [a, b]$, is monotone. The anti-symmetrical transform of a monotone function is again monotone, while the reverse implication does not need to hold.

2. Main results

The symmetrical transform of a function f on the interval [a, b], denoted by $\check{f}_{[a,b]}$ or simply by \check{f} if the interval [a, b] is clear from the context, is defined by

$$\check{f}(x) = \frac{1}{2} [f(x) + f(a + b - x)], \text{ for } x \in [a, b].$$

Similarly, the *anti-symmetrical transform of* f *on the interval* [a, b], denoted by $\tilde{f}_{[a,b]}$ or simply by \tilde{f} , is defined by

$$\tilde{f}(x) = \frac{1}{2} [f(x) - f(a+b-x)], \text{ for } x \in [a,b].$$

For every function one has $f = \check{f} + \tilde{f}$.

Definition 2.1. We say that a function $f : [a, b] \to \mathbb{R}$ is anti-symmetrized nonincreasing (resp. nondecreasing) if its anti-symmetrical transform \tilde{f} is nonincreasing (resp. nondecreasing).

Obviously, if f is a monotone function, then its anti-symmetrical transform \tilde{f} , as a sum of two such functions, is monotone in the same direction. On the other hand, there are functions which are not monotone, yet their anti-symmetrical transform is. For example, let $f_0 : [a, b] \to \mathbb{R}$ be given by $f_0(x) = x^2$. Then

$$\tilde{f_0}(x) = \frac{1}{2} \left[x^2 - (a+b-x)^2 \right] = (a+b)x - \frac{(a+b)^2}{2},$$

so if *a* and *b* are such that a < 0 < b and b - a > 0, the function f_0 is not monotone, while \tilde{f}_0 is increasing.

We are going to prove several Steffensen type inequalities for anti-symmetrized monotone functions. The first result corresponds to the second inequality in (1) under the Milovanović-Pečarić's assumptions. **Theorem 2.2.** Let f and g be integrable functions defined on the interval [a, b] such that f is anti-symmetrized nonincreasing and g satisfies (2) with $\lambda = \int_a^b g(t) dt$. Then

$$2\int_{a}^{b} f(t)\tilde{g}(t)\,dt \le \int_{a}^{a+\lambda} f(t)\,dt - \int_{b-\lambda}^{b} f(t)\,dt,\tag{6}$$

with the inequality reversed if f is anti-symmetrized nondecreasing.

Proof. Applying the Steffensen inequality (1) for the nonincreasing function \tilde{f} we get

$$\int_{a}^{b} \tilde{f}(t)g(t) dt \le \int_{a}^{a+\lambda} \tilde{f}(t) dt.$$
(7)

The left hand side of (7) is equal to

$$\int_{a}^{b} \tilde{f}(t)g(t) dt = \frac{1}{2} \int_{a}^{b} f(t)g(t) dt - \frac{1}{2} \int_{a}^{b} f(a+b-t)g(t) dt$$
$$= \frac{1}{2} \int_{a}^{b} f(t)g(t) dt - \frac{1}{2} \int_{a}^{b} f(y)g(a+b-y) dy = \int_{a}^{b} f(t)\tilde{g}(t) dt, \quad (8)$$

while the right hand side is equal to

$$\int_{a}^{a+\lambda} \tilde{f}(t) dt = \frac{1}{2} \int_{a}^{a+\lambda} f(t) dt - \frac{1}{2} \int_{a}^{a+\lambda} f(a+b-t) dt = \frac{1}{2} \int_{a}^{a+\lambda} f(t) dt - \frac{1}{2} \int_{b-\lambda}^{b} f(y) dy.$$
(9)

Inserting these two identities in (7) we obtain the required inequality. \Box

Analogously we can obtain the corresponding result for the first inequality in (1).

Theorem 2.3. Let f and g be integrable functions defined on the interval [a,b] such that f is anti-symmetrized nonincreasing and g satisfies (3) with $\lambda = \int_a^b g(t) dt$. Then

$$\int_{b-\lambda}^{b} f(t) dt - \int_{a}^{a+\lambda} f(t) dt \le 2 \int_{a}^{b} f(t)\tilde{g}(t) dt,$$
(10)

with the inequality reversed if f is anti-symmetrized nondecreasing.

We can combine Theorems 2.2 and 2.3 in the following corollary.

Corollary 2.4. Let f and g be integrable functions defined on the interval [a, b] such that f is anti-symmetrized monotone and g satisfies (2) and (3) with $\lambda = \int_{a}^{b} g(t) dt$. Then

$$2\Big|\int_{a}^{b}f(t)\tilde{g}(t)\,dt\Big|\leq \Big|\int_{a}^{a+\lambda}f(t)\,dt-\int_{b-\lambda}^{b}f(t)\,dt\Big|.$$

We are going to prove two versions of Theorem 1.3 for anti-symmetrized monotone functions. The first one is given in the next theorem.

Theorem 2.5. Let f, g and h be integrable functions defined on the interval [a, b] such that h is positive, the function $x \mapsto \frac{\tilde{f}(x)}{h(x)}$ is nonincreasing and $0 \le g \le 1$. Then inequality (6) holds, where λ is the solution of the equation (5).

If the function $x \mapsto \frac{\tilde{f}(x)}{h(x)}$ is nondecreasing, then the reversed inequality in (6) holds.

Proof. Due to (8), (9) and the assumptions of the theorem we have

$$\begin{split} \frac{1}{2} \int_{a}^{a+\lambda} f(t) \, dt &- \frac{1}{2} \int_{b-\lambda}^{b} f(t) \, dt - \int_{a}^{b} f(t) \tilde{g}(t) \, dt \\ &= \int_{a}^{a+\lambda} \tilde{f}(t) \, dt - \int_{a}^{b} \tilde{f}(t) g(t) \, dt \\ &= \int_{a}^{a+\lambda} \tilde{f}(t) \left[1 - g(t) \right] \, dt - \int_{a+\lambda}^{b} \tilde{f}(t) g(t) \, dt \\ &\geq \frac{\tilde{f}(a+\lambda)}{h(a+\lambda)} \int_{a}^{a+\lambda} h(t) \left[1 - g(t) \right] \, dt - \int_{a+\lambda}^{b} \tilde{f}(t) g(t) \, dt \\ &= \frac{\tilde{f}(a+\lambda)}{h(a+\lambda)} \left[\int_{a}^{b} h(t) g(t) \, dt - \int_{a}^{a+\lambda} h(t) g(t) \, dt \right] - \int_{a+\lambda}^{b} \frac{\tilde{f}(t)}{h(t)} h(t) g(t) \, dt \\ &= \int_{a+\lambda}^{b} h(t) g(t) \left[\frac{\tilde{f}(a+\lambda)}{h(a+\lambda)} - \frac{\tilde{f}(t)}{h(t)} \right] \, dt \ge 0. \end{split}$$

The second extension of Theorem 1.3 to the anti-symmetrized monotone functions is given in the next theorem.

Theorem 2.6. Let *f*, *g* and *h* be integrable functions defined on the interval [*a*, *b*] such that *h* is positive, the function $z(x) = \frac{f(x)}{h(x)}$ is anti-symmetrized nonincreasing, $0 \le g \le 1$ and λ is the solution of the equation (5). Then

$$2\int_{a}^{b}\tilde{z}(t)h(t)g(t)\,dt \leq \int_{a}^{a+\lambda}f(t)\,dt - \int_{b-\lambda}^{b}f(t)\frac{h(t)}{h(a+b-t)}\,dt.$$
(11)

If the function z is anti-symmetrized nondecreasing, then the reversed inequality in (11) holds.

Proof. We have

$$\int_{a}^{a+\lambda} f(t) dt - \int_{a}^{b} z(t)h(t)g(t) dt = \int_{a}^{a+\lambda} z(t)h(t) dt - \int_{a}^{b} z(t)h(t)g(t) dt$$
$$= \int_{a}^{a+\lambda} z(t)h(t) \left[1 - g(t)\right] dt - \int_{a+\lambda}^{b} z(t)h(t)g(t) dt \quad (12)$$

Since \tilde{z} is nonincreasing we have

$$z(t) - z(a+b-t) = 2\tilde{z}(t) \ge 2\tilde{z}(a+\lambda)$$
(13)

for $t \le a + \lambda$, while the reverse inequality holds for $t \ge a + \lambda$, so

$$\begin{split} \int_{a}^{a+\lambda} z(t)h(t) \left[1-g(t)\right] dt &- \int_{a+\lambda}^{b} z(t)h(t)g(t) dt \geq 2\tilde{z}(a+\lambda) \int_{a}^{a+\lambda} h(t) \left[1-g(t)\right] dt \\ &+ \int_{a}^{a+\lambda} z(a+b-t)h(t) \left[1-g(t)\right] dt - \int_{a+\lambda}^{b} z(t)h(t)g(t) dt \\ &= 2\tilde{z}(a+\lambda) \left[\int_{a}^{b} h(t)g(t) dt - \int_{a}^{a+\lambda} h(t)g(t) dt \right] \\ &- \int_{a+\lambda}^{b} \left[2\tilde{z}(t) + z(a+b-t) \right] h(t)g(t) dt + \int_{a}^{a+\lambda} z(a+b-t)h(t) \left[1-g(t) \right] dt \\ &= 2 \int_{a+\lambda}^{b} \left[\tilde{z}(a+\lambda) - \tilde{z}(t) \right] h(t)g(t) dt - \int_{a}^{b} z(a+b-t)h(t)g(t) dt \\ &+ \int_{a}^{a+\lambda} z(a+b-t)h(t) dt \\ &\geq - \int_{a}^{b} z(a+b-t)h(t)g(t) dt + \int_{a}^{a+\lambda} \frac{f(a+b-t)}{h(a+b-t)}h(t) dt \end{split}$$

From (12) and the last inequality we conclude

$$\int_{a}^{a+\lambda} f(t) dt - \int_{a}^{a+\lambda} \frac{f(a+b-t)}{h(a+b-t)} h(t) dt \ge \int_{a}^{b} [z(t) - z(a+b-t)] h(t)g(t) dt,$$
$$\int_{a}^{a+\lambda} f(t) dt - \int_{b-\lambda}^{b} f(t) \frac{h(a+b-t)}{h(t)} dt \ge 2 \int_{a}^{b} \tilde{z}(t)h(t)g(t) dt,$$

i.e.

When *h* is symmetric, i.e. h(t) = h(a + b - t), then the assumptions on *f* and *h* in Theorems 2.5 and 2.6 are equivalent since $\tilde{z}(x) = \frac{\tilde{f}(x)}{h(x)}$. In that case $\int_a^b \tilde{z}(t)h(t)g(t) dt = \int_a^b \tilde{f}(t)g(t) dt = \int_a^b f(t)\tilde{g}(t) dt$, so inequalities (6) and (11) are the same.

Acknowledgement

This article is dedicated to Professor Gradimir V. Milovanović on the Occasion of his 70th anniversary.

References

- [1] P. R. Mercer, Extensions of Steffensen's inequality, J. Math. Anal. Appl. 246(1) (2000), 325-329.
- [2] G. Milovanović and J. Pečarić, The Steffensen inequality for convex function of order *n*, Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz. 634-677 (1979), 97–100.
- [3] J. Pečarić, Notes on some general inequalities, Publ. Inst. Math. (Beograd) (N.S.) 32 (46) (1982) 131-135.
- [4] J. Pečarić, A. Perušić and K. Smoljak, Mercer and Wu-Srivastava generalisations of Steffensen's inequality, Appl. Math. Comput. 219(21) (2013), 10548–10558.
- [5] J. Pečarić, K. Smoljak Kalamir and S. Varošanec, Steffensen's and Related Inequalities: A comprehensive survey and recent advances, Monographs in Inequalities 7, Element, Zagreb, 2014.
- [6] J.F. Steffensen, On certain inequalities between mean values, and their application to actuarial problems, Skand. Aktuarietidskr. 1 (1918) 82–97.